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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 9,006 2) 3,006 3) 9,005 4 7.001
-6,202 - 711 -4.,434 -_6,842 5
3.
4.
5 2,005 6 5,001 7 4,001 8 4,006 >
- 832 - 4,866 -1,373 -1,533 6
7.
8.
9 4,004 10) 8,008 11) 2,005 12) 4,009 9.
-1,246 -7,831 - 583 -1,718
—_— —_— — — 10.
11.
12.
13) 9,002 14) 6,006 15) 4,005 16) 6,002 13.
-6,220 -4,623 -2,037 - 645
S S S o 14.
15.
16.
17) 8,004 18) 5,003 19) 3,008 200 4,001 17
-1,138 - 354 - 23 —_2,502
18.
10.
20.
1-10 [95]90[85]80[75]70]65[60] 5550
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 2.804
1) 9.006 2 3.006 3 9.005 4 7001
- 6,202 - 711 - 4,434 - 6,842 ” 2,295
2 804 2 295 4,571 159
3 4,571
4 159
5 2,005 6 5,001 7 4,001 8 4,006 > 1,173
. 832 - 4,866 -1,373 - 1,533 . 135
1,173 135 2 628 2 473
- 2,628
8 2 473
9 4,004 100 8,008 1) 2 005 12)  4.009 o. _ 2,758
- 1,246 -7.831 . 583 -1.,718
il kil S bl e — 10 177
2 758 177 1,422 2 291
w1422
2. 2,291
13)  9.002 14)  6.006 15 4,005 16) 6,002 13 2,782
-6,220 -4.623 -2.037 - 645
2 782 1,383 1.968 5 357 e 1,383
15, 1,968
& 5357
17) 8,004 18) 5,003 19 3,008 200 4,001 7 6,866
-1,138 - 354 - 23 - 2,502
6,866 4,649 2,985 1,499 1. 4,649
19. 2,985
0. 1,499
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
2,758 177 135 1,422
1,173 2,291 2,804 2,628 1.
2,295 159 2,473 4,571
2,
1) 9,006 2) 3,006 3 9,005 3.
-6,202 - 711 -4,434
- - - 4.
5.
6.
7.
4 7,001 5 2,005 6) 5,001
- 6,842 - 832 - 4,866 8.
9.
10.
11.
7 4,001 8 4,006 9 4,004 12
-1,373 -1,533 -1,246
100 8,008 11) 2,005 12) 4,009
- 7,831 - 583 -1,718
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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